Seat No: Enrollment No:

PARUL UNIVERSITY

FACULTY OF COMMERCE
B.Com. (Hons) Summer 2017 — 18 Examination
Semester: 2 Date: 21/05/2018
Subject Code: 16193151 Time: 10.30 am to 1.00 pm
Subject Name: Communication Skills - 11 Total Marks: 60

Instructions:
1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Make suitable assumptions wherever necessary.
4. Start new question on new page.

Q.1 Do as directed. (Each of % Marks)

A) Vocabulary-Crossword Puzzle (Any 20 out of 21) (10)
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AcCross:
1 Are underdeveloped countries
4 Cutting down trees in large number
5 Growing new trees in the grounds
6 To supply more than calamity
7 To give fair decision
8 Increase in the temperature of earth’s atmosphere
10  Damage
11  To pay back amount
13 Lends money to the countries
14 Process of investing money
15  To convert in reusable material
19  Process of owing money

20  Taxes imposed on imported goods

Down:
2 Synonym for natural calamity
3 Process of developing
8 Interaction between the people/companies on worldwide/ level
9 For measuring the prosperity of country
12 Senior manager
16  Head of the company
17  Limits on the number of goods

18  Reduction in no of something

B) Objective type questions. (Any 26 out of 27) (13)
(For example MCQ, Fill in the blanks, True or False, Finding errors, Crossword puzzle,
Match the following, Cloze test, etc...)

1.What does SRI stands for?

(a) socially responsible investment (c) selected responsible investment

(b) social residual investment (d) none of these

2. It is the total output of a particular country divided by the number of people there.
(@) GNP (c) GNI

(b) LDC (d) GDP per capita

3. People are working through the to remove trade barriers.
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(@ WTO (c) EEA

(b) NFTA (d) UNICEF

4. Which of the following countries belong to NAFTA?

(a) Canada (c) The United States

(b) Mexico (d) All of the above

5.This is the money that is provided for the small businesses.

(a) black money (c) white money

(b) seed money (d) none of these

6. of 1997 was designed to put the United Nations climate change.
(a) Kyoto protocol (c) Krypto

(b) Toyota protocol (d) Toronto protocol

7.1t is the idea that the economy should be organized in ways that can be continued without
causing irreversible damage to the environment.

(a) TBL (c) Sustainability

(b) natural resources (d) both (a) and (b)

8. Executive directors and non- executive directors are part of company’s

(a) board of directors (c) board members

(b) both (a) & (¢) (d) none of these

9. This is the process in which we replant trees on the areas which had trees.

(a) deforestation (c) recycling

(b) afforestation (d) reforestation

10.Burning waste in incinerators is .

(a) environment friendly (c) environmentally damaging

(b) does not have any effect (d) none of these

11.The waste that we flow in the rivers, lake, or seas are called

(a) disposal (c) pollutants

(b) effluents (d) carcinogents.

12.FTSE4Good and DJSI are examples of ?

(a) socially responsible investment (c) both

(b) Controversial investment (d) none of these.

13. IMF stands for

(a) International Money Funds (c) International Monetary Fund

(b) International m-Money Fundings (d) International Mass Fundings

14.1t is the evidence that you care about the environment.

(a) environmental degradation (c) environmental credentials

(b) environmental lobby (d) none of these

15.What are the highly paid executives often called

(a) big cats (c) rich cats

(b) fat cats (d) big wig

16. What is expansion of TBL?

(a) The Bottom Line (c) Two Bottom Line

(b) Triple Bottom Line (d) none of these

17.Some pollutants that are carcinogenic, causes?

(a) cancer (c) asthma

(b) death (d) tumor

18. Taxes on imported goods are called?

(a) quotas (c) tariffs

(b) both (d) none of these

19.Ethical behavior is doing things that are

(a) morally right (c) both

(b) morally wrong (d) none of these

20.0xfam and Medecins Sans Frontieres are

(a) health organizations (c) industries

(b) aid agencies (d) medical company

21.BRICS stands for?

(a) Britain, Russia, Iran, Canada, (c) Bhutan, Romania, India, Combodia, Singapore
Sudan

(b) Bihar, Rajasthan, Imphal, (d) Brazil, Russia, India, China, South Africa
Coimbatore

22.1t is a word that modifies the noun
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Q.2

Q.3

(a) adjective (c) adverb

(b) noun (d) verb

23.CSR stands for?

(a) cooperative society resource (c) corporate social responsibility
(b) consumer section resource (d) corporate society responsibility
24.‘the most valuable’ comes under

(a) superlative degree (c) comparative degree

(b) positive degree (d) none of these

25.NAFTA and EEA comes under

(a) fair trade (c) free trade

(b) fairy tale (d) fun trade

26. Air pollution, Land pollution, Water pollution are part of

(a) black issues (c) brown issues

(b) green issues (d) none of these

27.This is defined as the word used instead of noun.

(a) pronoun (c)verb

(b) adverb (d) preposition

Answer in Detail in around 150 words. (Each of six Marks) (Any 2 out of 3)

(Paragraph Development, Book Review Writing)

1.Write a paragraph on the topic ‘Social Media Addiction’.

2.Write a book review on “‘The Alchemist’ by Paulo Coelho.

3.Write a book review on ‘Wings of Fire’ by Abdul Kalam.

Reading comprehension. (Each of one Marks) (Any 13 out of 15)

Who would win in a fight, a lion or a tiger? Well, if size has anything to do with the matter, the
tiger would win. That’s because tigers are the largest of all cat species. They grow up to eleven
feet long and weigh as much as 670 Ibs. This makes tigers the third largest land carnivore. The
only larger land carnivores are polar bears and brown bears. Tigers are not only large, they are
also fast. They can sprint as fast as 40 miles per hour for short distances and leap as far as 30 feet
horizontally. This makes for an extremely dangerous pounce. You might not think that such
large, fast, and ferocious creatures need help to survive, but they do. The tiger is an endangered
species.

Despite all of the tiger’s strengths, the future of the species is uncertain. Tigers face a very high
risk of extinction. It is estimated that at the start of the 20th century, there were over 100,000
tigers living in the wild. By the turn of the century, the number of tigers outside of captivity
dwindled to just over 3,000. Interestingly, the most serious threats that tigers face come from a
much smaller species, one with an average weight of around 140 Ibs. That species is Homo
sapiens, better known as humans. Humans threaten tigers in primarily two ways: hunting and
destroying habitat.

Tigers are hunted for many reasons. People have long valued the famous striped skins. Though
trading tiger skins is now illegal in most parts of the world, tiger pelts are worth around $10,000
on the black-market. Though the fur would be incentive enough for most poachers, other parts of
the tiger can also fetch a pretty penny. Some people in China and other Asian cultures believe
that various tiger parts have healing properties. Traditional Chinese medicine calls for the use of
tiger bones, amongst other parts, in some prescriptions.

Tigers have also been hunted as game. In other words people hunted tigers solely for the thrill and
achievement of killing them. Such killings took place in large scale during the 19th and early 20th
centuries, when a single maharaja or English hunter might claim to kill over a hundred tigers in
their hunting career. Though this practice is much less popular today than it was in the

past, it has not ceased entirely.

Though tiger population faces many threats and obstacles to recovery, there have been some
successes in conservation and preservation efforts. For example, Save China’s Tigers, an
organization working to restore the wild tiger population, successfully rewilded a small number
of South China tigers. These tigers were born into concrete cages from parents who were also
captive and unable to sustain in the wild.
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Humans have done considerable damage to the world’s tiger population through hunting, but
perhaps more damage has been caused through the destruction of habitat. Tigers once ranged
widely across Asia, all the way from Turkey to the eastern coast of Russia. But over the past 100
years, tigers have lost 93% of their historic range. Instead of spanning all the way across Asia, the
tiger population is now isolated in small pockets in south and southeastern Asia. This is because
humans have drastically changed the environments. Humans have built towns and cities. Road
and transit systems were created to connect these towns and cities. To feed the people living in
these areas, forests and fields have been cleared to create farmland. Large tracts of land have been
stripmined to yield metals and other materials used in manufacturing. All of these activities have
consumed habitats that at one time supported tigers.

A major obstacle to preserving tigers is the enormous amount of territory that each tiger requires.
Each wild tiger demands between 200 and 300 square miles. Tigers are also both territorial and
solitary animals. This means that they are protective of the areas that they claim and they
generally do not share with other tigers. Because tigers need so much territory, it is difficult for
conservationists to acquire land enough to support a large population of tigers. Even when such
these considerable spaces are allocated, it is even more difficult to patrol such large areas to
prevent poaching. There is no easy way to preserve the wild tiger population without making
large sacrifices.

This organization brought these tigers to South Africa and helped them learn the necessary skills
for a predator to survive in the wild. Current evidence indicates that the project has been
successful. While this is just a small step, it shows that restoring the world’s tiger population is
possible.

1.Which of the following is not a reason in the article explaining why tigers are hunted?
. Because tiger skins are worth a lot of money

. Because tiger parts are used as medicines in some cultures

. Because some tigers attack local villages

. Because tigers are hunted for enjoyment by some people

. Which animal does not grow larger than the tiger?

. Brown bear

Lion

. Polar bear

. All of these animals grow larger than a tiger

. Which number is closest to the estimation of the wild Tiger population in 2003?
3,000

. 100,000

140

.30,000

. Which of the following best describes the author’s main purpose in writing this article?
. To provide readers with interesting information about the lifestyles of tigers

. To persuade readers to help the world’s tiger population and to offer ways to help
. To entertain readers with stories about how tigers hunt and are hunted

. To explain to readers why the world’s tiger population is endangered

. Information in the third paragraph is mainly organized using which text structure?
. Cause and effect

. Compare and contrast

. Chronological order

. Spatial order

. Which best explains why tigers have lost so much of their habitat according to the text?
. Because humans are afraid of tigers

. Because tiger skins are extremely valuable

. Because humans have changed the land

. Because tigers need so much space to survive

. Based on information in the text, which best explains why tigers are poached?

. Poachers hunt tigers to protect their families from dangerous animals.

. Poachers hunt tigers for medicine to cure sick family members.

. Poachers hunt tigers because they enjoy killing dangerous animals.

. Poachers hunt tigers to earn large amounts money
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8. Which best explains why it is so difficult to preserve the wild tiger population?
a. Tigers do not get along with most other animals.
b. Tigers must make their homes close to rivers and the world’s rivers are evaporating.
c. Tigers require a lot of space.
d. Tigers hunt in large packs and there are too few tigers left to make these packs.
9. Which of the following is an opinion?
a. Tigers can grow up to eleven feet long.
b. Saving the wild tiger population is important.
¢. South China tigers were brought to live in South Africa.
d. Humans have endangered the world’s wild tiger population.
10. Based on context, which best defines the term “rewilded” as used in the last paragraph?
a. To preserve animals by keeping them in zoos
b. To teach animals to coexist with humans
c. To teach humans to coexist with animals
d. To bring animals born in zoos back to nature
11. What does this idiom mean: “other parts of the tiger can also fetch a pretty penny”?
a. The fur is the only valuable part of the tiger.
b. Other parts of the tiger are worth a lot of money.
c. The tiger is a very beautiful animal.
d. Tigers can be trained to do tricks like in the circus
12. Which of the following could be best supported by information from the text?
a. Efforts to save tigers have had some success, but there are many obstacles to recovery.
b. Efforts to save tigers have failed in the past, but there is reason to continue trying.
c. Efforts to save tigers have been so successful that they saved tigers from endangerment.
d. Efforts to save tigers have failed completely.
13.What are the reasons for which tigers are hunted?
14 What are the obstacles faced while preserving tigers?
15. Give appropriate title to the paragraph.
Q.4 Descriptive writing in around 150 words. (Each of six Marks) (Any 2 out of 3) (12)
(Picture description, Formal Letter Writing)
1.Write a letter to the editor of a newspaper about the harmful effects of reckless driving. In your
letter you have to explain why reckless driving poses great danger to lives and property.
2.Describe the picture given on the next page

3.Write a letter to the editor of the newspaper stating about the lack of transport facility in your
locality.
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